MPM2D1                                        Chapter 3 Applications Worksheet

1.  A parabola has x-intercepts at (13, 0) and (7, 0) and it passes through point (9, 4).

     Determine the equation of the parabola in standard form and tell which way the graph opens.

2.  Netah and Aziz sell a new style of sunglasses. The profit on the sunglasses is determined by the relation P = (3n2 + 78n ( 315, where n is the number of sunglasses sold and P is the profit in dollars.

a) When does the company break even?

b) How many sunglasses must the company sell to maximize profits?

c) What is the maximum profit the company can earn?

d) Sketch the graph.

3.  Jack tosses a ball from the top of a school. The relation h = –5t2 + 6t + 3 models the path of the ball, where h is the height of the ball in metres above the ground and t is the time in seconds after Jack has tossed the ball.

a) How high is the school?

b) How long does it take the ball to reach 1 m above the school?

c) After how many seconds does the ball hit the ground?

d) Sketch the graph.

